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Sixth Semester B.Com. Degree Examination, April 2024
First Degree Programme under CBCSS
Core Course -

CO 1643/ CX 1643/TT 1643/HM 1643/CC 1643 : MANAGEMENT
; ACCOUNTING

(2018 Admission onwards)
(Common for Commerce/Commerce and Tax Procedure and
Practice/Commerce and Tourism and Travel Management/Commerce and
Hotel Management and Catering/Commerce with Computer Applications)

Time : 3 Hours . Max. Marks : 80

PART - A

Answer all questions in one or two sentences each. Each question carries 1 mark.
1.  Define management accéunting.

2.© Whatis decision tree?

3. Whatis benefit cost ratio?

4. . What is master'budgét?

5. Define’IRR.

6.  Distinguish between risk-and uncertainty.

. P.T.O.

nnnnnnnnnnnnnnnnnnn



Give the classification of cash flows-

7.
8. what is pudget kKéY factor?
9. what is fund flow statement?
10. what is decision making?
‘ (10><1=10 Marks)
pPART - B

Answer any eight questions in -not exceeding one paragraph each. Each question

carries 2 marks.

11. What is budget'manual?

42. State the nature of management accounting.
13. What aré objectives of fund flow statement?

14. Whatis capital rationing?

re ranked under ARR method? -

15, How projects @

16. Whatis flexible budget?

17. How payback period is computed when the cash inﬂowseare not uniform?

418. What are the principles of budgetary control?

19. -How profiton sale of fixed asset is treated while preparing cash from.operations’7

(
.

20. Calculate fund from operations from the following: '

Rs. | Rs.

N .
et Profit 80,000 Depreciation 20,000

Profit on sale of fixed asset 5,000 Provision for tax 10,000
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21. A project costs Rs. 20,000. The estimated cash inflows during its three year life
are Rs. 8,000, Rs.. 9,000 and Rs. 6,000 respectively. Calculate payback period.

22. Calculate caéh from operations from the following:

: Rs. . Rs.
Net Profit 50,000 Goodwill written off 3,000
Increase in debtors 4,000 Decrease instock 15,000

(8 x 2 = 16 Marks)

PART -C

Answer any six questions in not exceeding 120 words. Each question carries
4 marks. ‘

23.  How flexible budget differ from fixed budget?
24. What are the objectives of Management accounting?

25, Explaiﬁ the steps in preparing cash flow statement.

26. Distinguish between fund flow and cash ﬂow statements.

27. The following budget estimates are available from a factory working at 50% of its

capacity. '
Rs.

Variable expenée 60,000

Semi-variable expense 20,000

Fixed expense 10,000

Prepare a budget for 75% capacity assuming that semi

-variable expenses
increase by 10% for every 25%. (increase in capacity)

28. A project costs Rs. 15,000 and has a scrap value of Rs. 3,000. Its stream of
' income before depreciation.and tax during first 5 years is Rs. 3,000, Rs. 3,600,
Rs. 4,200, Rs. 4,800 and. Rs. 6,000. Assuming tax rate at 50% and depreciation

on straight line basis, calculate average rate of return.
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29. Prepare Cash Budget for 3 months April to June, with the following data (Figures
. repe | .

inRs.): |
Purchases Wages Expenses

February ~ 70,000 40,000 8‘,000 6,000
. March 80,000 50,000 8,000 7,000
April 92.000 . 52,000 9,000 7:000
. May 1,00,000 60,'000 10,000‘ 8,000
June 1,20,000 55,000 12,000 9,000

Month - Sales

Other information: ‘
(a) Opening balance of cash on 1% April = Rs. 25,000

l(b) Period of credit allowed by suppliers is. 2. months
(c) 25%of sale is for cash and period of credit allowed to customers is 1 month.

(d) Delay in payment of wages and expenses is 1 month.
(e) Income tax of Rs. 25,000 is to be paid in June:

30. The following is the profit and loss A/c-of X Ltd for the year 31.03.2022

Rs. po -,  Rs.
To salaries 5,000 By Gross profit b/d 50,000
1 To rent | 3,000 By profit:on'sale of building
; To depreciation on plant 5,000 Bookvalue — 10,000
;ff To printing and stationery 3,000 Sale value — 15,000 5,000
I Topreliminary expenses written off- 2,000 ' | |
| To goodwill written off 3,000
, To provision for tax 4,000
' To proposed dividend - 6,000
| To net profit 24,000
j‘ Total. 55,000 Total 55,000
f : : .
|

Calculate fund from operations.

.' 31. A‘prc.Jject costs Rs. 6,000 and is expected to generate cash flows of Rs. 2,000
over its life of 5 years. What is the internal rate of return of the project?

(6 x 4 = 24 Marks)
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PART —D

Answer any two questions. Each question carries 15 marks.

32.

Explain the various tools and te

chniques of Management accounting.

33. The Balance sheets of M/s Sindya and Bindya-as on 01.01.2022 and 31.12.2022

34.

were as follows:

Liabilities 1.1:22
Creditors . 40,000
Sindya's Loan 25,000
Loan fromBank - 40,000

(Amount in Rs.)
31.12.22 Assets  1.1.22 31.12.22

44,000 Cash 10,000 7,000
— Debtors 30,000 50,000
50,000 Stock 35,000 - 25,000

Combined capital 1,25,000 1,53,000 Machinery 80,000 55,000

Land 40,000 - 50,000
Building ~ 35,000 60,000

Total | 2,30,000 2,47,000 Total .2,30,000 2,47,000

During the year, machine costing Rs. 10,000 (Accumulated depreciation
Rs. 3,000) was sold- for Rs. 5,000. The provision for depreciation against
machinery on 1.1.2022 was Rs. 25,000 and on 31.12.2022 was Rs. 40,000.

Net profit for the year 2022 am
Fund flow_statement.

ounted to Rs. 45,000. You are required to prepare

"From the following Balance sheets of AB Ltd for the year ending 31.12.2022 and

31.12.2023, prepare Cash flow statement
Liabilties 2022 2023 Assets 2022 2023
Rs. Rs. Rs. Rs.
Equity share capital 2,15,000 2,75,000 Cash 7.500 7,700
Reserves 40,000 40,000 Other current assets 1,98,530 1,70,730
P/L alc 39,690 41,220 Land and Building  1,48,500 1,44,250
Provision for tax 40,000 50,000 Plant and Machinery 1,12,950 1,16,200
Bank loan 59,510 — Goodwill — 20,000
Current liabilities - 73,280 52,660
Total " 467,480 4,58,880 Total 4,67,480 4,58 880
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The following information is proviced :
(a) A dividend of Rs. 26,000 was paid during the ygar <.22.

(b) Profit before tax for the year was Rs. £2,530.

diavof Rs. 25000
(c) Durnng the year 2023, the company paid (8X O RS, £3.0- -
(d) Dunng the year, the company purchased another CET‘EE_, 2t o3
60,000 in share capital. It acquired stock Rs. 21,840 anc Fa
Rs 18,360.
(e) It purchased machinery costing Rs. 5,650 during the vear
The initial outlay of a project is Rs. 80.000 wi life of S years. The prolis ait=r

th a.lide

tax and depreciation and discount rate at 2035 are as foliows:
Years : 1 2 - 3 _
Profiis : 6.000 14.000 24.000 18.000
DiscountRate: 0.83 (082 058 048 0«

Depreciation has been chargsd under sirz

ight line msthed. The cost.of capita!
may be taken at 20%. Evaluate the project according to Net present valus
method.

{2 x 15 =30 Marks)




